TRAILER HITCH MOUNTING INSTRUCTIONS

CATALOG NUMBER .....ooocccooetsesssssssssmsmssssssmmesssssmsmmmsseseesssessssssssssses 217238

APPLICATION L..oiiiiiitreeteeesceeees s sessassbes s esasssasta e sasnssa s ssnenesnnns Datsun 200SX, All,

1HITCH CAPACITY oo 1000 pounds gross trailer weight 100 pounds maximum tongue load
OR the maximum load specified by the vehicle manufacturer;
WHICHEVER IS LESS.

PLEASE NOTE: This product complies with safety specifications and requirements for connecting

devices and towing systems of the state of New York and regulation V.E.S.C. V-5.

|. Clear spare tire well for for drilling. Locate the rear bumper. Notice that the bumper rubber cover is
fastened to the steel inner bumper at stand-off brackets at the bottom of the bumper. A 6" piece of the
metal retainer and the rubber cover must be cut away between the brackets to allow the hitch bumper
bracket to fit onto the steel inner bumper at the bumper center.

>. Hold hitch in place as shown in diagram and mark steel inner bumper and spare tire well for hitch bolts.
Centerpunch and drill holes at bumper and tire well for 3/8" diameter screws.

3. Reposition hitch on car and attach using fasteners as called out in the diagram. Be certain to position
tfender washers INSIDE OPPOSITE the hitch.

5. Final tighten all fasteners as specified on reverse of these instructions. Replace material removed from the
tire well. Recheck all fasteners occasionally for tightness.

FASTENERS:

(D) (2)3/8x11/2" screw
(2) 3/8" fender washer
(2) 3/8" lock washer
(2) 3/8" hex nut

(O (2)3/8x21/2" screw
(2) 3/8" flat washer
(2) 3/8" lock washer
(2) 3/8" hex nut

REAR BUMPER
/— inner steel member

outer cover
cut away as necessary

N\
N



Administrator

Administrator
217238  




